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Stage 3: Got Ite Number and place value

1 a) Find the next two numbers:
i) 4,8,12,16, oo, ) e
i) 50, 100, 150, 200, ..ccoevevveeeevreeerennn. ) eeeeereeeneeeeeeeneaeas

b) What is 100 more than 768?

¢) Whatis 100 less than 1567

(NPV1, 4 marks)

2 a) Findthe value of A in each of these statements:

i) A=500+30+2

A= e
ii) A+60+7=967

A= e
iii) 100+30+A=132

A= e

b) Complete the calculations:

i) 707 — 100 = 607 i) 666 —99 = ..o
707 =99 = ..o 666 —100 = ....coevvririiinnen
707 =101 = ..o 666 —101 = ...ccorvveriie

(NPV2, 8 marks)
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Stage 3: Got Ite Number and place value

3 Write these numbers in order, from smallest to largest:

/73 173 37 731 137 300 317

(NPV3, 3 marks)

4q Show 432 on this number line:

| |
430 440
(NPV4, 2 marks)

5 a) Write these numbers using numerals:

i) Four hundred and sixty:

ii)  Four hundred and six:

iii) Four hundred and sixteen:
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Stage 3: Got Ite Number and place value

b)  Write these numbers in words:

i) BT et et b bt b b e e b e b sheare et e b ae R e b eheeheeas e b et e ar et shseaeaseerberbenne et sheebesane
T
S
(NPV56marks)
6 Here are some number cards

a) Choose three cards to make the smallest possible three-digit number

b) Choose three cards to make the largest possible three-digit number

(NPV6, 2 marks)
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Stage 3: Goft lte

Addition and subftraction

7 Calculate:
a) 145+7 d) 356-9
b) 145+70 e) 356-50
¢) 145+200 f) 356-200

8 Calculate

a) 167+74 c) 714-87

b) 479 +247 d) 634-385

© 2015 Page 5

(AS1, 6 marks)

(AS2, 8 marks)
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Stage 3: Gof Ite Addition and subftraction

9 a) Naomiestimates the answer to 389 + 209 as shown:

389 + 209 = 500

Do you agree with Naomi?

Explain your answer

b) Lucy says 363 — 26 = 343 because:

360 — 20 = 340
6—-3=3
50 363 —26 =343’

Do you agree with Lucy?

Use an addition calculation to justify your answer

(AS3, 4 marks)
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Stage 3: Gof Ite Addition and subftraction

10 a) Jesse is trying to solve the problem:

There are 479 pupils in a school. 132 of the pupils are boys.

How many pupils are girls?

i) Jesse draws a diagram to help.

Place a (v') by the correct diagram.

132

Girls 479
Girls

132 479
479

132 Girls

ii) How many pupils are girls?

b) Find the missing digits in this calculation

(AS4, 5 marks)

© 2015 Page 7 ﬁ;

www . kangaroomaths.com




Stage 3. Got |12 Multiplication and division

11

12 a)

b)

© 2015

Complete the number sentences:

3X7 = V) e ¥ 3=5
............... x3=27 vi) 24+ .......=3
7 X e =28 vii) 6 X4 = ... x 24
36 +3 = YV 11) [ Xx4=6x%x8

(MD1, 8 marks)

One apple costs sixteen pence.
Lorna is working out the cost of four apples.
Write a mathematical statement, involving multiplication or division, to represent the problem:

Find the cost of four apples.

48 sweets are shared equally between three children.
How many sweets will each child receive?
Write a mathematical statement, involving multiplication or division, to represent the problem:

Solve the problem.

(MD2, 6 marks)

Page 8 ﬁi
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Stage 3. Got |12 Multiplication and division

13 a) Shaz'sribbon is three time as long as John's.

John's ribbon is 8cm, how long is Shaz's?

b) How many different outfits can be created from 5 hats and 3 coats?

(MD3, 4 marks)

© 2015 Page 9 ﬁ;
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Stage 3: Goft lte Fractions

14 Look at this number line.

What numbers are the arrows pointing at? Fill in the empty boxes.

(F1, 3 marks)

15 a) Place a (V') by the shapes that have one quarter shaded:

b) Draw a group around one third of the smiley faces.

(F2, 3 marks)

© 2015 Page 10 ﬁ;
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Stage 3: Goft lte Fractions

16 A fraction of each shape is shaded. Match each fraction to the correct place on the number line.

(F3, 4 marks)

1 4
17 a) Use the diagrams to explain why > = s

b) Write down another pair of equivalent fractions:

.............................. anNd .o
(F4, 1 mark)
18 Calculate:
3 1
a -+ = 9 -— —=
3 4 4
1 4 3
b) =+ - = d - —-=
) 5 ) 7 7

(F5, 4 marks)

© 2015 Page 11 ﬁg
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Stage 3: Goft lte Fractions

19 Sort these numbers into ascending order, from smallest to largest:

1 1

(F6, 3 marks)

20 There are 24 pupils in a class.

1
E of the pupils have brown hair.

1
5 of the pupils have black hair.

How many pupils do not have brown or black hair?

(F7, 5 marks)

© 2015 Page 12 ﬁg
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Stage 3: Goft lte Measurement

21 Are these statements true (T) or false (F)?

a) Yourteacherisshorterthanonemetre ...

b) You are heavier than one kilogram ...

c¢) Acoffee mugholds more than one litre ...
(M1, 3 marks)

22 Find the perimeter of this shape.

(M2, 4 marks)

23 a) Bob wants to buy a comic costing £1.50.
He saves 30p one week and 65p the next week.

How much more money does he need to buy the comic?

© 2015 Page 13 ﬁ;
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Stage 3: Goft lte Measurement

b) Jo’s lunch costs £4.50.

She pays with a £10 note.

Find three different ways in which she could receive her change.

(M3, 4 marks)

24 a) Write the time shown on each of the clocks

i) ii)

XII 12
XI | 11 1
A
X 1 I 10 2
IX — 111 9 3
VII v 8 4
VII \'% 7 5
VI 6

b) Which clock shows the time 2:40? Tick the one that does.
12 12
11 1 11 1

10 2 10 2

© 2015 Page 14 ﬁi
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Stage 3: Goft lte

c) Show the time 1:30 p.m.

Measurement

25 How many hours and minutes are there between the following times:

a) 9:00a.m.and 11:30 a.m.

b) Noon and 2:30 p.m.

c¢) 11:30a.m.and 4:15 p.m.

26 Complete the statements:
a) Thereare ....eeeeeenee seconds in one minute
b) Thereare ......ueueenn... days in one year
c¢) Thereare ... days in a leap year
d) Thereare ....eeeeeennee days in December
e) Thereare......ueeeenee. days in April
f) Thereare ....eeeeenee. days in June
© 2015 Page 15

12
11 1
10 2
9 3
8 4
7 5
6
(M4, 5 marks)
........................ hours and ..........c.ce.u........ Minutes
........................ hours and ..........c............. Minutes
........................ hours and ...........cc.ue....... Minutes

(M5, 3 marks)

(M6, 6 marks)
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Stage 3: Goft lte Measurement

27 A television programme is 50 minutes long.
It starts at 10:30 a.m.

What time does the programme finish?

(M7, 2 marks)
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Stage 3: Got |12 Geometry: properties of shape

28 a) Draw an example of:

i) Anisosceles triangle ii) Atrapezium iii) A rhombus

b) Jade thinks that a cuboid is a type of prism.
Do you agree with Jade?

Explain your answer.

(GPS1, 5 marks)

© 2015 Page 17 ﬁi
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Stage 3: Got |12 Geometry: properties of shape

29 Ruth thinks that a pentagon can have a right angle.

Draw a pentagon that shows Ruth is correct.

(GPS2, 2 marks)
30 Draw an example of:

i) arightangle ii) anangle less than a iii) an angle greater than a
right angle right angle

(GPS3, 3 marks)

© 2015 Page 18 ﬁi
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Stage 3: Got |12 Geometry: properties of shape

31 Here are some lines

B

C

Complete the following statements about these lines:

a) .. and ......... are horizontal lines

b) ... and ......... are vertical lines

c¢) Thereare ... pairs of parallel lines

d ... and ......... are a pair of perpendicular lines

e) ... and ......... are also a pair of perpendicular lines

(GPS4, 5 marks)

© 2015 Page 19 ﬁi
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Stage 3: Goft lte Staftistics

32 Construct a pictogram for this data.
o 6] T
o A 3 C
] L
2 4- KEY:
o 4 oo
g 5| o D
< 2 = 1 =2 people
3 I s
D b
C G G
(S1, 3 marks)
33 The bar chart shows the number of pupils in Class A who like cats (C ), dogs (D) and goldfish (G).

The pictogram shows the number of pupils in Class B who like cats (C ), dogs (D) and goldfish (G).

o 6
o oy
8 7 o C
S 44 o A A KEY:
L3 et
(<) . L
5 s
£ 2 : VAN A
E . 3 =10 people
n Faty
C G G

Class A Class B

a) How many more pupils in Class A like goldfish than in Class B?

b) How many more pupils in Class B like dogs than in Class A?

(S2, 4 marks)

© 2015 Page 20 ﬁi
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Stage 3: Goft lte Dashboard

Number Fractions, G t
eometry:

and Place +and - x and + Decimals & | Measure- . v L.

Properties Statistics
Value %s ment
of Shapes
NUMBER
NOT GOT IT YET?

Key topics | need to work on:

Mathematics

i |

=l Stace 3
|
\
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